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Question Id : 92090628846 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the question that follows:

The island of Bombay was acquired by the East India Company from the British
government in 1668 and was immediately fortified. In Bombay the English found a
large and easy-to-defend port. For that reason, and because English trade was
threatened at the time by the rising Maratha power, Bombay soon superseded Surat
as the headquarters of the Company on the west coast.

In Eastern India, the English Company had opened its first stat factories in Orissa
in 1633. In 1651 it was given permission to trade at Hugli in Bengal. It soon opened
factories at Patna in Bihar, Balasore in Orissa and Dhaka and other places in Bengal.
[t now desired that in Bengal too it should have an independent settlement. It dreamt
of establishing political power in India which would enable it to compel the Mughals to
allow them a free hand in trade, to force Indians to sell cheap, and buy dear, to keep
the rival European traders out and to make its trade independent of the policies for it
to appropriate Indian revenues and thus to conquer the country with its own
resources. Such plans were explicitly put forward at the time. In 1687, the directors
advised the governor of Madras to:

...establish such a policy of civil and military power and create and secure such a
large revenue to maintain both as may be the foundation of a large, well-grounded,
secure English dominion in India for all time to come.

In 1689 they declared:

The increase of our revenue is the subject of our care, as much as our trade: ‘tis that
must maintain our force, when twenty accidents may interrupt our trade; ‘tis that
must make us a nation in India...

Sub questions

Question Number : 1 Question Id : 92090628847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : In 1687, the directors advised the governor of Madras to:
establish such a policy of civil and military power and create
and secure such a large revenue to maintain both as may be
the foundation of a large, well-grounded, secure English
dominion in India for all time to come.

Statement II : In 1689 they declared: The decrease of our revenue 1s the
subject of our care as much as our trade.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement [ is true but Statement 11 is false

(4) Statement I is false but Statement 11 is true

Options :

920906114001. 1
920906114002. 2
920906114003. 3
920906114004. 4

Question Number : 2 Question Id : 92090628848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks from the options given below :

English trade was threatened at the time by the rising power, Bombay
soon superseded as the headquarters of the company on the west coast.
(1) Maratha, Pune (2) Bengali, Hugh
(3) Mughal, Surat (4) Maratha, Surat
Options :

920906114005. 1
920906114006. 2
920906114007. 3
920906114008. 4

Question Number : 3 Question Id : 92090628849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find out one word for the following phrase :

‘Provide with defensive works as protection against attack’

(1) Fence (2) Fortify
(3 Bridge (4) Foster
Options :

920906114009. 1
920906114010. 2
920906114011. 3
920906114012. 4

Question Number : 4 Question Id : 92090628850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Where did the East India Company open its first factories in eastern India?

(1) Assam (2) Hughi
(3)  Orissa (4) West Bengal
Options :

920906114013. 1
920906114014. 2
920906114015. 3
920906114016. 4

Question Number : 5 Question Id : 92090628851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why did the East India Company fortify the Bombay island immediately after
acquiring from British government?

(1)  Because of rising Mughal Power (2) Because of rising Maratha Power

(3)  Because of nsing Rajput Power (4) Because of nsing Swaraj Power

Options :

920906114017. 1
920906114018. 2
920906114019. 3



920906114020. 4

Question Id : 92090628846 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the question that follows:

The island of Bombay was acquired by the East India Company from the British
government in 1668 and was immediately fortified. In Bombay the English found a
large and easy-to-defend port. For that reason, and because English trade was
threatened at the time by the rising Maratha power, Bombay soon superseded Surat
as the headquarters of the Company on the west coast.

In Eastern India, the English Company had opened its first stat factories in Orissa
in 1633. In 1651 it was given permission to trade at Hugli in Bengal. It soon opened
factories at Patna in Bihar, Balasore in Orissa and Dhaka and other places in Bengal.
[t now desired that in Bengal too it should have an independent settlement. It dreamt
of establishing political power in India which would enable it to compel the Mughals to
allow them a free hand in trade, to force Indians to sell cheap, and buy dear, to keep
the rival European traders out and to make its trade independent of the policies for it
to appropriate Indian revenues and thus to conquer the country with its own
resources. Such plans were explicitly put forward at the time. In 1687, the directors
advised the governor of Madras to:

...establish such a policy of civil and military power and create and secure such a
large revenue to maintain both as may be the foundation of a large, well-grounded,
secure English dominion in India for all time to come.

In 1689 they declared:

The increase of our revenue 1s the subject of our care, as much as our trade: ‘tis that
must maintain our force, when twenty accidents may interrupt our trade; ‘tis that
must make us a nation in India...

Sub questions

Question Number : 1 Question Id : 92090628847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : In 1687, the directors advised the governor of Madras to:
establish such a policy of civil and military power and create
and secure such a large revenue to maintain both as may be
the foundation of a large, well-grounded, secure English
dominion in India for all time to come.

Statement II : In 1689 they declared: The decrease of our revenue 1s the
subject of our care as much as our trade.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement [ is true but Statement 11 is false

(4) Statement I is false but Statement 11 is true

Options :

920906114001. 1
920906114002. 2
920906114003. 3
920906114004. 4

Question Number : 2 Question Id : 92090628848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks from the options given below :

English trade was threatened at the time by the rising power, Bombay
soon superseded as the headquarters of the company on the west coast.
(1) Maratha, Pune (2) Bengali, Hugh
(3) Mughal, Surat (4) Maratha, Surat
Options :

920906114005. 1
920906114006. 2
920906114007. 3
920906114008. 4

Question Number : 3 Question Id : 92090628849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find out one word for the following phrase :

‘Provide with defensive works as protection against attack’

(1) Fence (2) Fortify
(3 Bridge (4) Foster
Options :

920906114009. 1
920906114010. 2
920906114011. 3
920906114012. 4

Question Number : 4 Question Id : 92090628850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Where did the East India Company open its first factories in eastern India?

(1) Assam (2) Hughi
(3)  Orissa (4) West Bengal
Options :

920906114013. 1
920906114014. 2
920906114015. 3
920906114016. 4

Question Number : 5 Question Id : 92090628851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why did the East India Company fortify the Bombay island immediately after
acquiring from British government?

(1)  Because of rising Mughal Power (2) Because of rising Maratha Power

(3)  Because of nsing Rajput Power (4) Because of nsing Swaraj Power

Options :

920906114017. 1
920906114018. 2
920906114019. 3



920906114020. 4

Sub-Section Number : 2
Sub-Section Id : 920906923
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090628852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

Directive principles of state policy are the form instructions /
guidelines the governments the center.
(1) in, of, to, at (2) 1in, with, for, at
(3) in, at, with, for (4) 1in, for, by, at
Options :

920906114021. 1
920906114022. 2
920906114023. 3
920906114024. 4

Question Number : 6 Question Id : 92090628852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

Directive principles of state policy are the form instructions /
guidelines the governments the center.
(1) in, of, to, at (2) 1in, with, for, at
(3) in, at, with, for (4) 1n, for, by, at
Options :

920906114021. 1
920906114022. 2
920906114023. 3
920906114024. 4

Question Number : 7 Question Id : 92090628853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

(4)
(B)
(©)
(D)

List I (Word)

Elevated (D
Dubious (II)
Efficacy (I11)
Disavow (IV)

List II (Synonym)
Promoted
Potence

Unclear

Refuse

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A)-(ID, (B)-(I), (C)-I1), (D)-(IV)
(A)-(D), (B)-(11L), (C)-(1L), (D)-(IV)
(A)-(IV), (B)-(ID), (C)-(I), (D)-(I1T)
(A)-(I1D), (B)-(D), (C)-(1D), (D)-(1V)

Options :

920906114025. 1
920906114026. 2
920906114027 3
920906114028. 4

Question Number : 7 Question Id : 92090628853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List I1 :

List I (Word)
(A) Elevated @D
(B) Dubious (1)
(C) Efficacy (I11)
(Dy Disavow (IV)

List II (Synonym)
Promoted
Potence

Unclear

Refuse

Choose the correct answer from the options given below:

(1)

(2)

(3)

(4)
Options :
92090611
92090611

(A)-(II), (B)-(1), (C)-(I1L), (D)-(IV)
(A)-(D), (B)-(I1D), (C)-(ID), (D)-(1V)
(A)-(IV), (B)-(ID), (C)-(I), (D)-(I1T)
(A)-(IID), (B)-(D), (C)-(ID), (D)-1V)

4025. 1
4026. 2



920906114027. 3
920906114028. 4

Question Number : 8 Question Id : 92090628854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List I with List I1 :

List I (Word) List Il (Antonym)
(A) Fertile (I) Final
(B) Gloomy (I) Barren
(C) Refusal (III) Cheerful
(D) Preliminary (IV) Consent

Choose the correct answer from the options given below:

(1) (A)-AD), (B)-(I1), (C)-(IV), (D)-(I)
2  @-O, (B)-AD, (C)-(1ID), (D)-(IV)
(3)  (A)-(ID), (B)-), (C)-(IV), (D)-(1L)
(4)  (A)-ID), B)-(D), (C)-@V), (D)-(I1I)

Options :

920906114029. 1
920906114030. 2
920906114031. 3
920906114032. 4

Question Number : 8 Question Id : 92090628854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List I with List I1 :

List I (Word) List II (Antonym)
(A) Fertile (I) Final
(B) Gloomy (I) Barren
(C) Refusal (I1I) Cheerful
(D) Preliminary (IV) Consent

Choose the correct answer from the options given below:

(1) (A)-AD), (B)-(I1), (C)-(IV), (D)-(I)
2  @-O, (B)-AD, (C)-(1ID), (D)-(IV)
(3)  (A)-(ID), (B)-), (C)-(IV), (D)-(1L)
(4)  (A)-ID), B)-(D), (C)-@V), (D)-(I1I)

Options :

920906114029. 1
920906114030. 2
920906114031. 3
920906114032. 4

Question Number : 9 Question Id : 92090628855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One word substitution

The scientific study of the moon :

(1)  Ontology (2) Selenology
(3)  Oncology (4) Astrology

Options :

920906114033. 1
920906114034. 2
920906114035. 3
920906114036. 4

Question Number : 9 Question Id : 92090628855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One word substitution

The scientifie study of the moon :

(1) Ontology (2) Selenology
(3) Oncology (4) Astrology
Options :

920906114033. 1
920906114034. 2
920906114035. 3
920906114036. 4

Question Number : 10 Question Id : 92090628856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the correct spelling :

“Excessive self eriticism”

(1) Self — Flagelasion (2) Slef - Flagilation
(3) Self — Flagellation (4) Self — Flegalation
Options :

920906114037. 1
920906114038. 2
920906114039. 3
920906114040. 4

Question Number : 10 Question Id : 92090628856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the correct spelling :

“Excessive self eriticism”

(1) Self — Flagelasion (2) Slef - Flagilation
(3) Self — Flagellation (4) Self — Flegalation
Options :

920906114037. 1
920906114038. 2
920906114039. 3



920906114040. 4

Question Number : 11 Question Id : 92090628857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of the sum of two numbers and their difference i1z 3:2. The ratio of the
greater number to the smaller number is :

1y 2:3 @y 3125
(3) 565:1 4 2:1
Options :

920906114041. 1
920906114042. 2
920906114043. 3
920906114044. 4

Question Number : 11 Question Id : 92090628857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of the sum of two numbers and their difference is 3:2. The ratio of the
greater number to the smaller number is :

1y =2:3 @y 125
3y 5:1 4 2:1
Options :

920906114041. 1
920906114042. 2
920906114043. 3
920906114044. 4

Question Number : 12 Question Id : 92090628858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum of money on compound interest amounts to 31,440 and 31,728 after two
years and three years respectively. Find the rate of interest per annum.

(1) 5% (2) 10%
(3) 12% (4) 20%



Options :

920906114045. 1
920906114046. 2
920906114047. 3
920906114048. 4

Question Number : 12 Question Id : 92090628858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum of money on compound interest amounts to 1,440 and 31,728 after two
yvears and three years respectively. Find the rate of interest per annum.

(1) 5% (2) 10%
(3) 12% (4) 20%

Options :

920906114045.
920906114046.
920906114047.
920906114048.

AW N~

Question Number : 13 Question Id : 92090628859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kaushal travelled for 2 hours 15 minutes at the speed of 40 km/h. At what speed
should he travel to cover the same distance in 2 hours?

(1) 48 km/h (2) 45 km/h
(3) 44 km/h (4) 48.5 km/h
Options :

920906114049. 1
920906114050. 2
920906114051. 3
920906114052. 4

Question Number : 13 Question Id : 92090628859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Kaushal travelled for 2 hours 15 minutes at the speed of 40 km/h. At what speed
should he travel to cover the same distance in 2 hours?

(1) 48 km/h (2) 45 km/h
(3) 44 km/h (4) 48.5 km/h
Options :

920906114049. 1
920906114050. 2
920906114051. 3
920906114052. 4

Question Number : 14 Question Id : 92090628860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B started a business by investing ¥48,000 and ¥60,000 respectively. At the end
of the yvear B received 10,000 more than A as his share in the profit. Find the total
profit.

(1) 398,600 (2) 95,500
(3) 94,000 (4) 90,000
Options :

920906114053. 1
920906114054. 2
920906114055. 3
920906114056. 4

Question Number : 14 Question Id : 92090628860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B started a business by investing ¥48,000 and 60,000 respectively. At the end
of the year B received 10,000 more than A as his share in the profit. Find the total
profit.

(1) 398,600 (2) 95,500
(3) 394,000 (4) 90,000
Options :

920906114053. 1
920906114054. 2



920906114055. 3
920906114056. 4

Question Number : 15 Question Id : 92090628861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six years ago Shanti’s age was 7 times the age of her only daughter. After 6 years
from now her age will be 3 times the age of her daughter. Find the present age of her
daughter.

(1) 10 years (2) 11 years
(3) 12 years (4) 13 years
Options :

920906114057. 1
920906114058. 2
920906114059. 3
920906114060. 4

Question Number : 15 Question Id : 92090628861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six yvears ago Shanti’s age was 7 times the age of her only daughter. After 6 vears
from now her age will be 3 times the age of her daughter. Find the present age of her
daughter.

(1) 10 yvears (2) 11 years
(3) 12 years (4) 13 vears
Options :

920906114057. 1
920906114058. 2
920906114059. 3
920906114060. 4

Question Number : 16 Question Id : 92090628862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the time between 3 and 4 (O elock at which the minute hand and the hour hand
overlap.

(1) ‘Iﬁi min past 3 2y 11 —SH min past 3
1 16
4 . . 2
(3) 16— min past 4 (1) 4— min past 4
1 | 16
Options :

920906114061. 1
920906114062. 2
920906114063. 3
920906114064. 4

Question Number : 16 Question Id : 92090628862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the time between 3 and 4 O clock at which the minute hand and the hour hand
overlap.

(1) ‘IEi min past 3 2y 11 —SH min past 3
11 16
4 i 1 S
(3) 16 — min past 4 (4) 4— min past 4
11 16
Options :

920906114061. 1
920906114062. 2
920906114063. 3
920906114064. 4

Question Number : 17 Question Id : 92090628863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the missing term in the following series :
2.1,2,4,.4,5.6.7.8, 8, 10,11, 7%

(1) 11 2) 12
(3) 10 4 8



Options :

920906114065. 1
920906114066. 2
920906114067. 3
920906114068. 4

Question Number : 17 Question Id : 92090628863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the missing term in the following series :

2,1,2.4.4,5,.6,.7,8,8,10,11,?

(B Il (& 12
(3) 10 4) 8
Options :

920906114065. 1
920906114066. 2
920906114067. 3
920906114068. 4

Question Number : 18 Question Id : 92090628864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rajesh ranks eighteenth from the top in a class. What 1s his rank from the last?

Statement [:  there are 47 students in the class.

Statement II: Nitin, who ranks 10t in the same class, ranks 38th from the last.
Choose the correct answer from the following:

(1) Data in Statement I alone is sufficient to answer the question.

(2) Data either in Statement 1 alone or in Statement Il alone is sufficient to
answer the question.

(3) Data given in both Statements | and Il together is not sufficient to answer the
question.

(4) Data in Statement II alone is sufficient to answer the question.

Options :
920906114069. 1



920906114070. 2
920906114071. 3
920906114072. 4

Question Number : 18 Question Id : 92090628864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rajesh ranks eighteenth from the top in a class. What is his rank from the last?

Statement I:  there are 47 students in the class.

Statement II: Nitin, who ranks 10t in the same class, ranks 38th from the last.
Choose the correct answer from the following:

(1) Data in Statement I alone is sufficient to answer the question.

(2) Data either in Statement I alone or in Statement Il alone is sufficient to
answer the question.

(3) Data given in both Statements [ and Il together is not sufficient to answer the
question.

(4) Data in Statement II alone is sufficient to answer the question.

Options :

920906114069. 1
920906114070. 2
920906114071. 3
920906114072. 4

Question Number : 19 Question Id : 92090628865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify which one of the following pattern resembles when the transparent sheet is
folded along the dotted line.

>

\4

O

Problem figure (x)

(1) (2)

(3) (4)

@@ ©®

SISSIS,

Options :

920906114073. 1
920906114074. 2
920906114075. 3
920906114076. 4

Question Number : 19 Question Id : 92090628865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify which one of the following pattern resembles when the transparent sheet is
folded along the dotted line.

v

DEO

Problem figure (x)

(1) (2)

(3) (4)

@@ ©®

SISSIS,

Options :

920906114073. 1
920906114074. 2
920906114075. 3
920906114076. 4

Question Number : 20 Question Id : 92090628866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five children were administered psychological tests to know their intellectual levels.
In the report, psyvchologists pointed out that the child A is less intelligent than the
child B. The child C is less intelligent them the child D. The child B 1s less intelligent
than the child C and the child A is more intelligent than child E. Which child is most
intelligent?

(1) A (2) B
@ D (4 C
Options :

920906114077. 1
920906114078. 2
920906114079. 3
920906114080. 4



Question Number : 20 Question Id : 92090628866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five children were administered psychological tests to know their intellectual levels.
In the report, psychologists pointed out that the child A is less intelligent than the
child B. The child C is less intelligent them the child D. The child B is less intelligent
than the child C and the child A is more intelligent than child E. Which child 15 most
intelligent?

(1 A (2) B
@ D 4) C
Options :

920906114077. 1
920906114078. 2
920906114079. 3
920906114080. 4

Question Number : 21 Question Id : 92090628867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List 11 :

List I (Important Days) List IT (Date)
(A) Indian Army Day () 05 June
(B) National Science Day (II) 15 January

(C) World Environment Day  (III) 28 February
(D) International Yoga Day (IV)y 21 June

Choose the correct answer from the options given below:

(1) (A)-ID, (B)-(ID), (C)-(IV), (D)-(D
2 (A)-aD), B)-(1D), (C)-(I), (D)-(IV)
3 (WD, (B)-ID, (C)-(I), (D)-(IV)
@) A)-ID, (B)-(), (C)-(1IL), (D)-(IV)

Options :

920906114081. 1
920906114082. 2
920906114083. 3



920906114084. 4

Question Number : 21 Question Id : 92090628867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Matech List I with List I1 :

List I (Important Days) List IT (Date)
(A) Indian Army Day (D 05 June
(B) National Science Day (II) 15 January

(C) World Environment Day  (III) 28 February
(D) International Yoga Day (TV) 21 June

Choose the correct answer from the options given below:

(1) (A)-dD), B)-(ID), (C)-aV), (D)-(D
(2)  (A)-(ID, (B)-ID), (C)-(D), (D)-(IV)
3 A1), (B)-ID), (C)-(I), (D)-(IV)
@) A)-ID, (B)-(D), (C)-(1ID), (D)-(IV)

Options :

920906114081. 1
920906114082. 2
920906114083. 3
920906114084. 4

Question Number : 22 Question Id : 92090628868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tulsidas composed his ‘Ramcharitmanasa’ in the reign of

(1) Babur (2) Akbar
(3) Aurangzeb (4) Bahadur Shah Zafar

Options :

920906114085. 1
920906114086. 2
920906114087. 3
920906114088. 4



Question Number : 22 Question Id : 92090628868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tulsidas composed his ‘Ramcharitmanasa’ in the reign of

(1) Babur (2) Akbar
(3) Aurangzeb (4) Bahadur Shah Zafar
Options :

920906114085. 1
920906114086. 2
920906114087. 3
920906114088. 4

Question Number : 23 Question Id : 92090628869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Renewable resources are available in limited quantity and
end, after a limited period of time if used excessively.

Statement II : Renewable resources are coal, petroleum etc.

In the light of the ahove statements, choose the correct answer from the options
given below

(1) Both Statement [ and Statement 11 are true.

(2) Both Statement [ and Statement Il are false.

(3) Statement [ is true but Statement Il is false.
(4) Statement [ is false but Statement 11 is true.
Options :

920906114089. 1
920906114090. 2
920906114091. 3
920906114092. 4

Question Number : 23 Question Id : 92090628869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Renewable resources are available in limited quantity and
end, after a limited period of time if used excessively.

Statement II : Renewable resources are coal, petroleum etc.

In the light of the above statements, choose the correct answer from the options
given below

(1) Both Statement [ and Statement 11 are true.

(2) Both Statement [ and Statement Il are false.

(3) Statement [ is true but Statement Il is false.
(4) Statement [ is false but Statement 11 is true.
Options :

920906114089. 1
920906114090. 2
920906114091. 3
920906114092. 4

Question Number : 24 Question Id : 92090628870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many Articles are there in the Indian Constitution?

(1) 395 (2) 396
(3) 398 (4) 399
Options :

920906114093. 1
920906114094. 2
920906114095. 3
920906114096. 4

Question Number : 24 Question Id : 92090628870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many Articles are there in the Indian Constitution?

(1) 395 (2) 396
(3) 398 (4) 399
Options :

920906114093. 1
920906114094. 2
920906114095. 3
920906114096. 4

Question Number : 25 Question Id : 92090628871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are true for income tax in India?

A It 15 a progressive tax
B. It is a direct tax
. It is collected by the State governments

It is proportional tax

(1) only A (2) only Aand B
(3 only A, Band C (4) only B,CandD
Options :

920906114097. 1
920906114098. 2
920906114099. 3
920906114100. 4

Question Number : 25 Question Id : 92090628871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are true for income tax in India?

A, It is a progressive tax
B. It is a direct tax
L. It is collected by the State governments
D. It is proportional tax
(1) only A (2) only Aand B
(3) only A, B and C (4) onlyB,CandD
Options :

920906114097. 1
920906114098. 2
920906114099. 3
920906114100. 4

Part B: Dev and Labour Studies

Section Id : 920906572
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906924
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090628872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An estimate of the distribution of world manufacturing output by P. Bairoch shows
that India's share of it stood at 19.7% in the year 1800 but then declined steadily
and in 1913 it was:

1. 8.6%

| ]

. 10%
3.1.4%

4. 4%
Options :
920906114101. 1
920906114102. 2
920906114103. 3
920906114104. 4

Question Number : 26 Question Id : 92090628872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

bt aiE gr1 fay fafaio Saea & famu &1 siiea guiar g & saat
HRd BT foear s 1800 H 19.7% TR feh a1 U1 @fs— 39& 918 ¥ 398 AR
fiRIae ams. ot 1013 T <t .

1. 8.6%

[ ]

. 10%
3.1.4%

4. 4%
Options :
920906114101. 1
920906114102. 2
920906114103. 3
920906114104. 4

Question Number : 27 Question Id : 92090628873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I Policy LIST II Year
A [National Education Policy I 2020
B. |[The Competition Act II. 2002
C. |Bharat Bond Exachage Traded Fund III. |2019
D. [Raght of children to free and compulsory Education Acq IV. 2009

Choose the correct answer from the options given below:
1. A-L. B-II. C-IIL. D-IV
2. A-IL. B-IIL. C-IV. D-I
3. A-I. B-IL. C-IV. D-III

4. A-II. B-1. C-III. D-IV
Options :
920906114105. 1
920906114106. 2
920906114107. 3
920906114108. 4

Question Number : 27 Question Id : 92090628873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 g1 11 H i sifore
T 1 GGl
A R fRram ifa L [2020
B. [wigegsn sffdmg L. [2002
C. YR s=97 fafag «aaR [fY 11 [2019
D. [[R:¥cm R HHTR dTc & &1 HHeR sfa=g| v [2009
FafeRad [deedi ©§ U Tt 3R &1 99 ST :

1. A-I. B-II. C-III. D-IV

2. A-II. B-III. C-IV. D-I

cA-LL B-I1. C-IV. D-III

L]

4. A-II. B-1. C-III. D-IV
Options :
920906114105. 1



920906114106. 2
920906114107. 3
920906114108. 4

Question Number : 28 Question Id : 92090628874 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: The concept of "political opportunity structure” does not emphasises
the external factors that influence the success or failures of social movements

Statement IT: Family. education. media and peer groups are important agents of
political socialization

In the light of the above statements. choose the correct answer from the options
given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 15 true but Statement II 1s false

4. Statement I 1s false but Statement IT 1s true
Options :
920906114109. 1
920906114110. 2
920906114111. 3
920906114112. 4

Question Number : 28 Question Id : 92090628874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CEACRIC LRI

DY I: A1 AT YT BT HAURUN &gl PRBI U & 7ol adi & &l
o Sigia-! ®f THadl a1 Hgwadl &f THIfad $dl o
ﬁmll:wﬁ%ﬂwﬁfmﬁ%maﬁqwﬂaﬁrﬁmwm%ﬂﬁw
HRP BId &

SQRIFI PY & 3|l U, 14 U T fepedl ¥ ¥ 989 Suged IR &l 98-
DI

1. YT 1 AR 11 SH1 Tl &

2. YT AR I HI Tad &
3. HYT1 el 8. Al HYT 11 7T9d ©

4. PYF17TAd. AP HYT 11 Tol o
Options :
920906114109. 1
920906114110. 2
920906114111. 3
920906114112. 4

Question Number : 29 Question Id : 92090628875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
There are four phases of a business cycle. Identify the correct sequence of the
occurrence of these phases:

1. Recovery. Recession, Expansion, Depression

| o]

. Recovery. Expansion. Depression, Recession
3. Expansion. Recession, Depression. Recovery

4. Depression. Expansion, Recession, Recovery
Options :
920906114113. 1
920906114114. 2
920906114115. 3
920906114116. 4



Question Number : 29 Question Id : 92090628875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR 9eh & IR aRUIBId & | 57 R0 &I UM D1 Tel 4aal &1 UgaH
PHIoTT :

2. gt fowdror, #idl, siawa
3. faxdron. sfawA, |l gt
4. Td], f[OEIRU, SfaHe-, a9

Options :

920906114113. 1
920906114114. 2
920906114115. 3
920906114116. 4

Question Number : 30 Question Id : 92090628876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who among the following decided to renounce British 'Knighthood protesting
Jalllanwala Bagh Massacre:

1. Jamshed)1 Tata
2. Rabindranath Tagore

3. Mahatma Gandhi

4. Jagatjit Singh Bahadur
Options :
920906114117. 1
920906114118. 2
920906114119. 3
920906114120. 4

Question Number : 30 Question Id : 92090628876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=44 ¥ {9 SIferamardr 9N AX8eR @ [a1Y H HI5e ©f Jurier &1 URanT
fopar -

1. SHRIE Sl 2Te]

2. TEl=AY SR

3. HETT il

4. SFTSIId ¥ 98153

Options :

920906114117. 1
920906114118. 2
920906114119. 3
920906114120. 4

Question Number : 31 Question Id : 92090628877 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements; one 1s labelled as Assertion A and the other
labelled as Reason R

Assertion A: Wage differential acts as signal to guide potential workers i their
demand for traming and retaining

Reason R: People demand education partly for the effect 1t will have on their
future earning potential

In the light of the above statements. choose the correct answer from the options
given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A 1s true but R 1s false

4. A 1s true but R 1s true
Options :
920906114121. 1
920906114122. 2



920906114123. 3
920906114124. 4

Question Number : 31 Question Id : 92090628877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 31 Y U §: U SHUDYT (Assertion A) D U T [7REd § Il IRT ITD
Pl (Reason R) & U H;

B YF A: Tolas] [ Hel 1! S URIEmT SR FR=<Rdl & g
arfeffa o3 ¥ 9%d ST oM o 9Hdl §

PHRUIR: G 2781 Bt 14 59 FRo1 9 +ft Hd © Fife 398 yidw § 3!
3G AT yYfad eidl 8

SRIFd DY & 3ielie 1, 44U fabeul I 9 gad Jugei IR &l 99

1. AR RGHI Tl § AR R. A DI Jol AR &
A JRREH T8 8. AP R. AT Ugl AR TRl ©
ATEIgAfBAR TE el &

4, A6l & AP R Tl ©
Options :
920906114121. 1
920906114122. 2
920906114123. 3
920906114124. 4

|

a2

Question Number : 32 Question Id : 92090628878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: When income effect dominates the substitution effect. then
mndividual labour supply curve becomes backward bending

Statement II: Aggregated to the industry level. the labour supply is not expected to
be backward bending even when income effect dominates the substitution effect

In the light of the above statements. choose the correct answer from the options
given below:

1. Both Statement [ and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 1 true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true
Options :
920906114125. 1
920906114126. 2
920906114127. 3
920906114128. 4

Question Number : 32 Question Id : 92090628878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CEACRIC LRI

U I T 3T THTT RIFTIRT F47a O §1d1 §iT € a oafd i sgfdt
dsh o1 Feb1d T Bl oIl §

DY 131 TR R GG & d15, 48 MU o g5 Usl Tal B ol (o
YD1 g1 TLH! g1, 39 f&ufd § vl §ig o1 gHTa RIFR Y419 R 8141 8l

LY

SQRIFI PY D 3|l U, 4 U T fepedl T ¥ 989 Juged IR &l 98-
FIfoIT:

1. PYT1 AR 11 gH T8l §
HYF 1R 11 SH Tad §
DY 1 T8 B, Aftp Y 11 7Tad ©

4. BYF 170, AfpT HYT 1 T3 &
Options :
920906114125. 1
920906114126. 2
920906114127.3
920906114128. 4

| ]

L)

Question Number : 33 Question Id : 92090628879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
To calculate Consumer Price Index (CPI) which of the following price indices 1s
used in India.

1. Lagpeyers price Index
2. Paasche Price Index
3. Fischer price Index

4. Simple Price Index
Options :
920906114129. 1
920906114130. 2
920906114131.3
920906114132. 4



Question Number : 33 Question Id : 92090628879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SO & 1Hd adid (3 UT 3M15) & GRS & (U 598 § JIHid &l
SN YRT H far ST &

1. AR BiHd Yadbis
2. Ul pIHd YIhidp

3. [PRR Bind Yaois
4. WA PIAd YIbid

Options :

920906114129. 1
920906114130. 2
920906114131. 3
920906114132. 4

Question Number : 34 Question Id : 92090628880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: The first strike by the Great Indian Peninsular Railways took place in
1899

Statement IT: Bharat shramjeevi news paper was started in 1870

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement [ 15 correct but Statement I incorrect

4. Statement I 1s incorrect but Statement II correct
Options :
920906114133. 1
920906114134.2



920906114135. 3
920906114136. 4

Question Number : 34 Question Id : 92090628880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SEEAEAIEA RIS
BYA I U 55T UH-IeR Y0de &1 usdl goard 1899 1 g ol

DY II: HRd YHuiidl SHER U ST HRY 1870 T g3 4T

e Py P el H, 1 ST 7T ferdbedi & § 969 S9gdd 3R &I 98-
DIfIT:

1. PYTI AR IS Gel &
2. BY1 AR 11 S Tad &
3. HYF 1 Yl 6. AT Y 11 76d &

4. BYF 1 7TAd. AfbT HYT 11 T3 &
Options :
920906114133. 1
920906114134. 2
920906114135.3
920906114136. 4

Question Number : 35 Question Id : 92090628881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which are causes of poverty?

A. Unemployment and Low wages

B. Poor Healtheare and Illness

C. High literacy rate and Low population growth
D. High public debt and poor infrastructure

Choose the appropriate answer from the options given below:
1. A. B only
2. A.B.D only
3. A.B. C only

4.B.C.D only
Options :
920906114137. 1
920906114138. 2
920906114139. 3
920906114140. 4

Question Number : 35 Question Id : 92090628881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=78 O 6 1 T FRUT 82

A, SRISHTRT 3R P aeigdl R

B. THGIR Wy HaRIT 3R SHRT

C. =g HIERI &R 3R Y o e gig
D. 3= A BT AR FY e =1

=i fed e fased! o Taliie Sugead SR &1 90 B |
1. Had A. B
2. PAAA.B.D
3.PAUA. B, C
4.®HAAB.C.D
Options :

920906114137. 1
920906114138. 2




920906114139. 3
920906114140. 4

Question Number : 36 Question Id : 92090628882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A registered worker under MGNREGA i1s entitled to a daily unemployment
allowance 1if the worker is not provided employment within

1. 15 days

| ]

. 30 days
3. 10 days

4. 45 days
Options :
920906114141. 1
920906114142. 2
920906114143. 3
920906114144. 4

Question Number : 36 Question Id : 92090628882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AN & Sdid Usiigd BIHP af-eb SRIGRTRI H1 BT HaR idl ¢ a4 34
ISR ef e g

1.15 fgaf |
30 feArd
3. 10 feAtH
4. 45 faAtd

Options :

920906114141. 1
920906114142. 2
920906114143. 3
920906114144. 4

|

Question Number : 37 Question Id : 92090628883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (Books) LIST II {Authors)
Hindu kinship I |K. P Jayaswal
State and Government in Ancient Indig| II. |D. R. Bhandarkai
Some aspects of ancient Hindu Polity | IIL. |Dr. K. M kapadia
Hindu Polity IV. |Dr. A S Altekar

o|afw]>

Choose the correct answer from the options given below:
1. A-I. B-II. C-III. D-IV
2. AL, B-IV. C-I1. D-I
3. A-IL B-III. C-IV. D-I

4. A-I. B-II. C-IV, D-III
Options :
920906114145. 1
920906114146. 2
920906114147. 3
920906114148. 4

Question Number : 37 Question Id : 92090628883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 1 1 gt 11 1 e ifore

1 T I
A [iBg o L [ Ul SrEard
B. [&2¢ U 7+t 24 wAde 2faan 1. [31 3. YUsR®H?
C. [59 ey A% TARge feg ullcel | 111 [S1. & vq. Sursy]
D. [i&g Uil IV [S1. U U9, 3y
Fafciad [ddpedl § ¥ 98! 3R &l 99+ Pl :

1. A-I. B-II. C-IIL. D-IV

2. A-IIL B-IV, C-IIL. D-I

A-IL B-IIL C-IV. D-I

L]

4. A-1. B-11. C-IV, D-III



Options :

920906114145. 1
920906114146. 2
920906114147. 3
920906114148. 4

Question Number : 38 Question Id : 92090628884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is Hawthrone effect?

A. Previleging hetro sexual relations

B. A change in subject’s behaviour caused by the awareness of being studied
C. Cultural patterns that distinguish asociety elite

D. Fostering a more democratic organisational atmosphere

E. Formal organisation that direct the political life of a society

Choose the correct answer from the options given below:
l.Aand B
2. Bonly
3. Cand D only

4. E and B only
Options :
920906114149. 1
920906114150. 2
920906114151. 3
920906114152. 4

Question Number : 38 Question Id : 92090628884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SI3U UHTd 182

A. fownfeme et o fagwifieRr 1

B. fav9 & cgaeR ¥ ggaa ol f 309 ey fpu o & FRUTgId &
C. Apiae Jfal ol T g SYSd & fafky g=rdl 8

D. T% AP AP dl-ae TR ardiasul &f Hiedifed $3al &

E. U= TR0 o FH16 & o1 siad & frey i &

- fed e fas el § aiie Iugead S) &1 90 B
1.A3RB

. hadd

. ¥ad C AR D
4. Had E 3R B

Options :

920906114149, 1

920906114150. 2

920906114151. 3
920906114152. 4

| ]

L}

Question Number : 39 Question Id : 92090628885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Association of South East Asian Nations (ASEAN) was formed

1. 1965

|

. 1966
3. 1967

4. 1968
Options :
920906114153. 1
920906114154. 2
920906114155. 3
920906114156. 4

Question Number : 39 Question Id : 92090628885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

<1801 gd UiRmrs 1Y (SREr) 1 99 HiEd gsn un
1.1965 1

1966 H

[ ]

3.1967H

4, 1968 H
Options :
920906114153. 1
920906114154. 2
920906114155. 3
920906114156. 4

Question Number : 40 Question Id : 92090628886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
A Grant of Diwani of Bengal. Bihar and Orissa to the British 1 li784
7 |company i
B. |Tipu Sultan's Commercial Mission to Turkey II. 1763
. |Charter Act abolishes company's monopoly over India's trade to -
. R ITT. |1786
[Britain
. . » : —
D. Pitts India Act reorganises Carnatic Debts at over 20 million v lig13
[pounds

Choose the correct answer from the options given below:
1. A-IV, B-III, C-II. D-I
2. A-TL, B-III. C-IV. D-I
3. A-I. B-II. C-III. D-IV

4. A-III. B-IV. C-1. D-II
Options :
920906114157. 1
920906114158. 2
920906114159. 3
920906114160. 4



Question Number : 40 Question Id : 92090628886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 g1 11 H i sifore
T 1 T

A [fgfesr St i §d, fdgR AR I bl dlaHi dl e | 1 [1784

B. [¢10 Ted= &1 b ol SATGHIAD AN 1. [1765

c AT} AT §R1 YR & SAUR IR $U-] & UHIIDHR B S —

o, e 31501 uae 20 fafem U & d-ie® B & fo o —_—

- i ﬁ m% 2 -
FafaRad fae el § I T8l SR &1 99 HifoT -

1. A-IV. B-III. C-II. D-I

| )

- A-IL B-IIIL. C-IV. D-I
3. A-L B-II. C-III. D-IV

4. A-I11. B-IV, C-I, D-II
Options :
920906114157. 1
920906114158. 2
920906114159. 3
920906114160. 4

Question Number : 41 Question Id : 92090628887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements; one 1s labelled as Assertion A and the other
labelled as Reason R

Assertion A: First five year plan was based on the Harrod-Domar Model'

Reason R: The aium of this plan was to start process of balanced development of
cconomy. Agriculture was on top priority in this plan

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct
Options :
920906114161. 1
920906114162. 2
920906114163. 3
920906114164. 4

Question Number : 41 Question Id : 92090628887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D
PIUl (Reason R) & $U H:

HTPYA A: TUT UFaNg 1o e1S-5HR Hige W YR 2t
BRUR: 3 A1 D1 A&7 YT & Hdferd [dBr P1 Uishar SIRY &A1
U1 29 GIS1 § DY B gryfiendr i

SIRIdd PYT D 3HTadid H, 114 [SU fabcal § 9 9ad Iugad 9 &l 99

A SRR G UEI § IR R. A D! ol ARAT ©

A SRR S 98T 8. AT R, A B WE o ST &
ATEI g UGTR T Tl ©

4. A GGl T8I & Afb-TR Wel ¢

Options :

920906114161. 1
920906114162. 2
920906114163. 3
920906114164. 4

—

| )

Taa

Question Number : 42 Question Id : 92090628888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Percentage share of the Primary. Secondary and tertiary sectors respectively in
GDP of India during 2020-21.

1.38:1, 232 387
2.202. 259, 539
3.12; 28, 60

4.19.2, 22.3, 594
Options :
920906114165. 1
920906114166. 2
920906114167. 3
920906114168. 4



Question Number : 42 Question Id : 92090628888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ay 2020-21 & GRM YR & G °¥q A1 1 WUHd A1l ud gdiasd
&=t 1 wfererd 3 HHE: &

1.38.1, 232, 387

| R
[ ]
=
[ o]
| ]
I_"
o

R

4.19.2, 22.3, 594
Options :
920906114165. 1
920906114166. 2
920906114167. 3
920906114168. 4

Question Number : 43 Question Id : 92090628889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which charter Act, the first time the Governor-Generals Govt. was known as the
"Govt. of India" and his council as the "Indian Counecil.”

1. Charter Act of 1793

| o]

. Charter Act of 1813
3. Charter Act of 1833

4. Charter Act of 1853
Options :
920906114169. 1
920906114170. 2
920906114171. 3
920906114172. 4

Question Number : 43 Question Id : 92090628889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g T1ex HfIga § Ugd! R 18R O Rd &1 TROR B 'HRd WHR' 3R
3D! UYg B "HRAD RN &gl 7]

1. 1793 BT 91ex Hffgm
. 1813 @1 91ex Hfafgm
3. 1833 BT 9ICR YTy
4. 1853 @I 91ex HfAFgH

Options :

920906114169. 1
920906114170. 2
920906114171. 3
920906114172. 4

| ]

Question Number : 44 Question Id : 92090628890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Distinct from government and business. civil society can be understood as:

1. The "third sector" of society

| )

. The "watch dog" of society

Tl

. The "curator" of society

4. The "guardian" of society
Options :
920906114173. 1
920906114174. 2
920906114175.3
920906114176. 4

Question Number : 44 Question Id : 92090628890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WHR R AR F eI, TR FHIS bl FHLAT S Pl ¢ -
1. JHS & TR faumT & =9 |
2. U & Ugsl b =0 [
3. 9O & FAldr S = u

4, A & AHHES & &g H
Options :
920906114173. 1
920906114174. 2
920906114175. 3
920906114176. 4

Question Number : 45 Question Id : 92090628891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By the year 2025, as per the National Hydrogen Mission. ethanol blending in

Petrol will be.

1. 25%

| ]

. 10%
3. 8%

4. 15%
Options :
920906114177. 1
920906114178. 2
920906114179. 3
920906114180. 4

Question Number : 45 Question Id : 92090628891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ay 2025 TP, AP ET5gIe M P IR Ugial H gy=Ta o1 JTyu gl
SITQ -

1.25%

| B
[
L=
-\.\?
o

4. 15%
Options :
920906114177. 1
920906114178. 2
920906114179. 3
920906114180. 4

Question Number : 46 Question Id : 92090628892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
India's poverty line calculation of monthly per capita consumption expenditure
method was set up by:

1. Chelliah Committee

| ()

. Suresh Tendulkar Committee

3. Sen Committee

4. RBI
Options :
920906114181. 1
920906114182. 2
920906114183. 3
920906114184. 4

Question Number : 46 Question Id : 92090628892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IRYye Ufd safed SUYNT e WUlTel! ¥ YRd @1 TRIe! 1 ®t 0T BT HRo
oo fosar o1

1. =ifcerar giafd

2. P dgad Fifd
3. ¥ gfEfd
4. YR Rord deb

Options :

920906114181. 1
920906114182. 2
920906114183. 3
920906114184. 4

Question Number : 47 Question Id : 92090628893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following measures of central tendency is the most appropriate to use
if the data relate to rates, proportions and ratios?

1. Arithmetic mean

2. Median

3. Harmonic mean

4. Geometric mean
Options :
920906114185. 1
920906114186. 2
920906114187. 3
920906114188. 4

Question Number : 47 Question Id : 92090628893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g I DI A1 Haid Ygirdl o1 419 a8 3ugad i Afe STel &2, §HHud
3R Sard 9 Haferd gl

1. JHIOR 91¢0

2. HIEY

3. ENHP HIO
4. SIadg \31eg

Options :

920906114185. 1
920906114186. 2
920906114187. 3
920906114188. 4

Question Number : 48 Question Id : 92090628894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following states in descending order in terms of percentage of
population below poverty line:

A. Punjab
B. 1P

C. Orissa
D. Assam

Choose the correct answer from the options given below:

LCAB D

| ]

A B DG
A0 ALE D

4. C.B.D. A
Options :
920906114189. 1
920906114190. 2
920906114191. 3
920906114192. 4

Question Number : 48 Question Id : 92090628894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

RIS G I B S P Hia<d & AR FHifehd Il B a1l PH
o oafyd sifoe

A. G9Tg
B. 3R eyl
C. 3ol
D. 3{9H

=i fU U fameni | ¥ w8t SR dife .
1.C.A,B.D
2.A.B,D.C
3.B,A.C.D

4. C.B.D.A
Options :
920906114189. 1
920906114190. 2
920906114191. 3
920906114192. 4

Question Number : 49 Question Id : 92090628895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Labour market reforms does not aum at:

1. Job security

| )

. Minimum wage

Tl

. Labour market flexibility

4. Employment insurance
Options :
920906114193. 1
920906114194. 2
920906114195. 3
920906114196. 4



Question Number : 49 Question Id : 92090628895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yftieh SToIR YUR &1 e el &
1. ISR GRE&T

 GAaH ddH
. YfHe FoR T

4. ISR &H1
Options :
920906114193. 1
920906114194. 2
920906114195. 3
920906114196. 4

|

Laa

Question Number : 50 Question Id : 92090628896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Health care services| I |Demerit goods
B. |Alcohol II. Merit goods
C. JAir Travel II1. |Social bad
D. [Pollution IV. [Luxury good

Choose the correct answer from the options given below:

1. A-I, B-II. C-III. D-IV

| ]

A-IL B-1 C-IV. D-III
3. A-L. B-II. C-IV, D-III

4. A-11. B-IV. C-III. D-I
Options :
920906114197. 1
920906114198. 2
920906114199. 3
920906114200. 4



Question Number : 50 Question Id : 92090628896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 11 g1 11§ e ifor
T 1 T

A [ anyand| 1 |emmg aeg

B. [ERTd 11 [gi a5

C. [gars amn 1L [T 531 a5
D. [Hgyul IV. [f[aaiaaT a&g

FafaRad faeedl ¥ 9 gl 3R &1 99 i :
1. A-L, B-TI, C-III, D-IV
2. A-IL, B-I, C-IV, D-III
3. A-L B-IL C-IV, D-III

4. A-II. B-I'V. C-III. D-I
Options :
920906114197. 1
920906114198. 2
920906114199. 3
920906114200. 4

Question Number : 51 Question Id : 92090628897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on employment status among the following which category has highest
share in employment in India.

1. Self employment
2. Casgual workers

3. Regular workers

4. Wage workers
Options :
920906114201. 1
920906114202. 2
920906114203. 3



920906114204. 4

Question Number : 51 Question Id : 92090628897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

re-Rufd 9 smeTid ReieRad O 9 YRd © g | foog gofl &1 39
Jaifis 82

1. WHgeH
2. AHHTd BHIR
3. Fafag sER

4. TG PR
Options :
920906114201. 1
920906114202. 2
920906114203. 3
920906114204. 4

Question Number : 52 Question Id : 92090628898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The percentage of population living in rural India at present:

1. 54%

| ]
o)
]
[=]
=)

3. 70%

4. 80%
Options :
920906114205. 1
920906114206. 2
920906114207. 3
920906114208. 4

Question Number : 52 Question Id : 92090628898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I YR & gaaE § Y54 aral oEe] o Uiaeid o

1. 54%

| ]
o
r
(=]
(=1

3. 70%

4. 80%
Options :
920906114205. 1
920906114206. 2
920906114207. 3
920906114208. 4

Question Number : 53 Question Id : 92090628899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The code used under GST for classification of Goods is called.

1. NIC
2. HSN
3. GSTN

4. ITC
Options :
920906114209. 1
920906114210. 2
920906114211. 3
920906114212. 4

Question Number : 53 Question Id : 92090628899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SIaEe o 3feiia HId & GiiHRuI & AU SUdIT fdht oI a1l H16 Bl Hed 6 -
1. T 315 4t
2. T TH A
3o EEd T
4. 3T ¢t

Options :

920906114209. 1
920906114210. 2
920906114211. 3
920906114212. 4

Question Number : 54 Question Id : 92090628900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTII
A JAnnual plans I |22 five vear plan|
B. [[nvestment in heavy industry I1. |Plan Holidavs
C. |Eradication of Poverty IIL 5 five vear plan
D. |Growth with social justice and equality] IV. |9 five vear plan

Choose the correct answer from the options given below:

1. A-I, B-II. C-III. D-IV

[ ]

. A-IL B-I. C-III. D-IV

T

CA-IV, B-IILL C-I1. D-I

4. A-L. B-II. C-IV. D-III
Options :
920906114213. 1
920906114214. 2
920906114215. 3
920906114216. 4

Question Number : 54 Question Id : 92090628900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
T 1 1 gt 11 1 e ifore

I 11
aitieh gl = L ﬁ?ﬂﬂ%m
YR i | Ha= I1. [GiorT SaHIRT
TR 3 111 [O= Gaa¥ig gieil
reIeTd 1 3R GHH & 91y i | [V, 799 Udauig gie

Fafeiad [deedi ©§ 3 It 3R &1 904 S ;

1. A-I. B-II. C-IIL. D-IV

ofa]w]-

2. A-II. B-1. C-1II., D-IV
3. A-IV. B-III. C-IV, D-I

4. A-1. B-II. C-IV. D-III
Options :
920906114213. 1
920906114214. 2
920906114215. 3
920906114216. 4

Question Number : 55 Question Id : 92090628901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: 'Social Protection' 1s a set of benefits to the individuals of household
to reduce multidimensional poverty and deprivation

Statement IT: 'Social interaction' is a system by which society ranks categories of
people in hierarchy

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both Statement [ and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I 15 correct but Statement II incorrect

4. Statement I 1s incorrect but Statement IT correct
Options :
920906114217. 1
920906114218. 2
920906114219. 3
920906114220. 4

Question Number : 55 Question Id : 92090628901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A RIC LRI

DY I ISP YR&T TR Afddl o (4T & ard d oY g, [orad 31
g3l TRidl 9 g1 ®f HY fhar &1 9 |

DY I FHID Y’ U HUIel! & o THTS ATl Bl 3+ Yal{hH
SR JUMATT HAT § |

SQRIFI PY & 3|l U, 14 U T fepedl ¥ ¥ 989 Suged IR &l 98-
FIfoIT:

1. BY1 AR 11 SH1 98T &
2. BYTI AR 11 G TTod &
3. HYT1 el 8. Al HYT 11 7T9d ©

4. PYF17TAd. AP HYT 11 Tol o
Options :
920906114217. 1
920906114218. 2
920906114219. 3
920906114220. 4

Question Number : 56 Question Id : 92090628902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements; one 1s labelled as Assertion A and the other
labelled as Reason R

Assertion A: In a competitive labour market. a minimum wage that raises the
wage rate above 1ts equuilibrium value may lead to an increase in unemployment

Reason R: This 1s partly because firms reduce their demand for labour, but also it
reflects an increase in labour supply

In the light of the above statements. choose the correct answer from the options
given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A is true but R 1s false

4. A 1s true but R 1s true
Options :
920906114221. 1
920906114222. 2
920906114223. 3
920906114224. 4

Question Number : 56 Question Id : 92090628902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D
PIUl (Reason R) & $U H:

SHUHYH A: U Yiaaiit y0 a6R §, a9 dd- 95! Sda- Ted & da-iaL Dl
S3Tdl & 981 sRISTRI &1 i §¢1 ebdl 1 § |

DRUI R: UG SA¢U F1fds BH 391 98 HiT &1 &9 Bl g HUq 97 Sgfa d
i gieg B Sl § 1

SWRIFd PY & 3Maie U, Hd [4U fdbeul § 9 gad Uy 3R &l 994

1. A 3R R &I 96l € IR R. A B gl AHAT ©

2. A 3R R Gl 9El €. Wihd R, A &1 HEl U 81 ©
3. ANEI AR O TET ©

4. AR TR € Al R WET §

Options :

920906114221. 1
920906114222 2
920906114223.3
920906114224. 4

Question Number : 57 Question Id : 92090628903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Covid-19 Pandemic was notified by WHO in:

1. November 2019

|

. March 2020
3. January 2020

4. October 2019
Options :
920906114225. 1
920906114226. 2
920906114227. 3
920906114228. 4

Question Number : 57 Question Id : 92090628903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fa% TR W6+ §RI HIfdS-19 TTHR! $I Ja-1 41 715 o -
1. 7d&R 2019
2. A4 2020
3. SiFaR1 2020

4. 3dcdEe 2019
Options :
920906114225. 1
920906114226. 2
920906114227. 3
920906114228. 4

Question Number : 58 Question Id : 92090628904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
India's economic growth in FY 2022-23 has been principally led by increase in:

A. Domestic tourism
B. MSMEs

C. Private consumption
D. Foreign tourism

E. Capital formation

In the light of the above statements. choose the most appropriate answer from the
options given below

1. A. Cand D only
2. B and C only
3. C and E only

4. A. C and E only
Options :
920906114229. 1
920906114230. 2
920906114231.3
920906114232. 4



Question Number : 58 Question Id : 92090628904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁin%f%aﬁ 2022-23 H HRd @1 1@ [ R Jgifds S04 us dem =
kg

A. TR ggeT

B.UATHTAS
c. fait Ig4nT

D. fag=h wieq
E. Goil fAafor

-4 fed e fasedi o waliie Sugead SR &1 90 B |
1.Pad A, C HRD

. $HqA B qYUTC

. Pgd C TUTE

| ()

L]

4. HAA A, CAUTE
Options :
920906114229. 1
920906114230. 2
920906114231. 3
920906114232. 4

Question Number : 59 Question Id : 92090628905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In the case of symmetrical distribution.

1. Mean < Median

2. Mean = Median

3. Mean = Mode

4, Medium < Mode
Options :
920906114233. 1

920906114234. 2
920906114235. 3



920906114236. 4

Question Number : 59 Question Id : 92090628905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 fqaRur & dey &
1. HIH < HIEIH]
2. H1e = HIfeda]

3. 919 > gD
4, 19 < §g0D

Options :

920906114233. 1
920906114234. 2
920906114235. 3
920906114236. 4

Question Number : 60 Question Id : 92090628906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Under Labour Reforms. 29 Central Labour Laws were amalgamated. rationalised
and simplified mto

1. Three Labour Codes
2. Four Labour Codes
3. Five Labour Codes

4. Six Labour Codes
Options :
920906114237. 1
920906114238. 2
920906114239. 3
920906114240. 4

Question Number : 60 Question Id : 92090628906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o YUR/GAFHHI & ded. 20 Daid Y5 BIAI/aH] B SIsHR, THIdd HIb
WA ST

1. A YA DI
2. IR HH IS
3. 049 Y7 DIS
4.5 YA DS

Options :

920906114237. 1
920906114238. 2
920906114239. 3
920906114240. 4

Question Number : 61 Question Id : 92090628907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A [Mean [. |To observe the vanation in the data
B. Median II. [Find the average of homogenous data
C. Mode III. |[Find the contral value of the data.
b EGaiand Geviatisal i To understand the central idea and

frequently occurring value

Choose the correct answer from the options given below:

1. A-L. B-II. C-III. D-IV

| ]

AL B-IIIL C-IV, D-I
3. A-IL, B-IV. C-III, D-I

4. A-I1. B-1. C-11II. D-IV
Options :
920906114241. 1
920906114242. 2
920906114243. 3
920906114244. 4



Question Number : 61 Question Id : 92090628907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 g1 11 H i sifore

T 1 T
EIEa NEEEICEEGIEIGE
EIEIEA] I1. [Tt 221 &1 AiYd -1

ERSEZ 111 [[OR1 B4 UR =21 &l paid Jod o =41
OH® f[daad | v [dhag Y gyl gR-aR g4 ard sid sl & asH]

fgfafad fawedl § O gal 3d &1 994 Difelu

1. A-I. B-II. C-III. D-IV

ola[w]>

2. A-II. B-III. C-IV. D-I

- A-IL B-IV. C-II1. D-I

L]

4. A-II. B-1. C-III. D-IV
Options :
920906114241. 1
920906114242 2
920906114243. 3
920906114244. 4

Question Number : 62 Question Id : 92090628908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements; one 1s labelled as Assertion A and the other
labelled as Reason R

Assertion A: There is a need to control the inerease in prices of food articles such
as cereals. fruits and vegetables, etc.

Reason R: Recent price trends indicate that inflation of food articles 1s higher than
overall rate of inflation in the Wholesale Price Index (WPI)

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A 1s correct but R 1s not correct

4. A 1s not correct but R is correct
Options :
920906114245. 1
920906114246. 2
920906114247.3
920906114248. 4

Question Number : 62 Question Id : 92090628908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D
PIUl (Reason R) & $U H:

HFHYT A: G IAE] o TS, Bd a1 Tfesrdl & dgd gl &f Hafad
B DI AUAWHA B

BRI R: B Sis] & STUR Wie Idlal § Heg &3 Ui [ay gl @l
HETTS aX I SIS €|

SIRIdd DY D 3HTadid H, 114 [SU fabcal § 9 9ad Iugad 9o &l 9

1. A SRR G U8l € IR R. A D ol ARAT &

. A 3R R S el 8. e R. A B Wel ARAT 181 &
ATSI g AFIR IR TR §

4. AHEI oI S AT R TG &

Options :

920906114245. 1
920906114246. 2
920906114247. 3
920906114248. 4

| )

L}

Question Number : 63 Question Id : 92090628909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The European Union has developed a whole panoply of European Institutions.
among these are:

A. The Commission, the Couneil

B. The parliament. the Court of Justice

C. The European Court of Human Rights

D. Members of the European Political Parties
E. Social Democrats

Choose the correct answer from the options given below:

1. AADand E

|

.A. B and C only
3.B,Cand D

4.C.Dand E
Options :
920906114249. 1
920906114250. 2
920906114251. 3
920906114252. 4

Question Number : 63 Question Id : 92090628909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIMGH gAg A QRIMUTE S &1 U6 $ad [dDhid [$a15. 95 -

A T HHTA, § PR

B. T UIfeiamie, 3 I 3 oy

C. & IRIUTA BIE 3% §T A5cH

D. T 3 § PRI uliafc s urdfsl
E. YA SHIhCH

- f&u e fasedi o ¥ 98t SR 2o -
1.A.D 3R E
2. PAA A, BIHR C
3. Hdd B, C AU D
4.%dd C.D 3R E




Options :

920906114249. 1
920906114250. 2
920906114251. 3
920906114252. 4

Question Number : 64 Question Id : 92090628910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Among the following measurement of Variation which is free from unit of
measurement.

1. Standard deviation

| ]

. Coefficient of variation
3. Mean deviation

4. Quartile deviation
Options :
920906114253. 1
920906114254, 2
920906114255.3
920906114256. 4

Question Number : 64 Question Id : 92090628910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & 70 & 9, S -9 A ety g
1. O fa=e
PR CERUEIYIED
3. T1e T
4. I faaa

Options :

920906114253. 1
920906114254. 2
920906114255. 3
920906114256. 4



Question Number : 65 Question Id : 92090628911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When null hypothesis 1s true but we reject it and accept alternative hypothesis
under the concept of significance of tests in statistics 1s known as:

1. Type II error

| ]

. Type I error

L]

. Type IV error

4. Type III error
Options :
920906114257. 1
920906114258. 2
920906114259. 3
920906114260. 4

Question Number : 65 Question Id : 92090628911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ifeae! 1 G180 & Hed & YRGBT 5, o 89 7d eRudiR S TeR S
U4 dofeud gRuifify & WieR &I dl 39 Fed & -

1. TIgU I A
2. C913fe

3. CUIV Ife
4. U A

Options :

920906114257. 1
920906114258. 2
920906114259. 3
920906114260. 4

Question Number : 66 Question Id : 92090628912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements; one 1s labelled as Assertion A and the other
labelled as Reason R

Assertion A: Trade unions negotiate for their members on pay, working conditions
and job security

Reason: Barriers to the entry and exit of workers may reduce firms flexibility to
adapt to changing market comditions

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct
Options :
920906114261. 1
920906114262. 2
920906114263. 3
920906114264. 4

Question Number : 66 Question Id : 92090628912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D
PIUl (Reason R) & $U H:

HTHHYT A: 9T HIS 30U Wi ¥ 301 TaHIgD Y&, WY qUT
T 3 ol @ 396 Yl W Siddid $3d o

PHRUIR: BRI & 3 TUT 914 IR Ufdds. B & W0 & dead aloilk W&y
& 3IPd B 9 Al g

SWRIFd PYA & 3Maie U, H1d [4U fabeul ¥ 9 gad Uy 3R &l 994

DIfoTT
1.ARRGHI T8I AR R. A DI Jol ARAT &

2. A IR R EHI Tol 5. AfdT R. A T el IR el &
3. AR AP R GE IS @
4L AT TRIE AT R TSI ©

Options :

920906114261. 1
920906114262. 2
920906114263. 3
920906114264. 4

Question Number : 67 Question Id : 92090628913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who 15 author of the book Pedagogy of the Oppressed’ (1972).

1. David Hargreaves

[

. Paul Willis
3. Paulo Frire

4. Coin Lacey
Options :
920906114265. 1
920906114266. 2
920906114267. 3
920906114268. 4

Question Number : 67 Question Id : 92090628913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

"USHIST ST &1 SHUES" (1972) fvdTa fads gRIRA 82

Ty h

1. SfdS gRUH
2. did faferg

3. OTell W

4. Plgadd
Options :
920906114265. 1
920906114266. 2
920906114267. 3
920906114268. 4

Question Number : 68 Question Id : 92090628914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is not the correct reason for intervention of the government in the
economy”?

1. To prohibit the consumption of merit goods

[ ]

. To improve economic efficiency

%)

. To pursue the social values

4. To prohibit the consumption of bad goods
Options :
920906114269. 1
920906114270. 2
920906114271. 3
920906114272. 4

Question Number : 68 Question Id : 92090628914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HiHaR T TRPR & T4 D] DIH-Hl HRUI Ug! 761 67
1. 3=y FAIGI P FUHFT BI ABHT
2. 3{Tfde IUTEar § YR
3. et TSI ARl Bl UM b fa=nm 7 v &=
4. §X IATE] D FYHIT B U

Options :

920906114269. 1
920906114270. 2
920906114271. 3
920906114272. 4

Question Number : 69 Question Id : 92090628915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following forms of authority has not been conceptualised by Max
Weber?

1. Charismatic

[

. Rational-legal
3. Traditional

4. Dictatorial
Options :
920906114273. 1
920906114274. 2
920906114275. 3
920906114276. 4

Question Number : 69 Question Id : 92090628915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 9 oF Y UlIeR & IR & 6T 599 daR gRI Tal &f 7Ts 82
1. TP RSP
2. qepETa-fafere
3. WP

4, AHEIRIRT
Options :
920906114273. 1
920906114274. 2
920906114275. 3
920906114276. 4

Question Number : 70 Question Id : 92090628916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Infant Mortality rate (per 1000 live births) in 2020 in India 1s:

1.33

[ ]

. 18
3. 45

4. 28
Options :
920906114277. 1
920906114278. 2
920906114279. 3
920906114280. 4

Question Number : 70 Question Id : 92090628916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRd H 2020 H RIY Jg <X (AP 1000 oiifdd =1f 0R) -

1.33

[

. 18

T
=
L

4. 28
Options :
920906114277. 1
920906114278. 2
920906114279. 3
920906114280. 4

Question Number : 71 Question Id : 92090628917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following is /are correct?

A. All-India Trade Union Congress-CPI

B. Indian National Trade Union Congress-Congress Party
C. Hind Mazdoor Sabha-Praja Socialist Party

D. Bhartiya Mazdoor Sangh (BMS)- BIP

E. Bhantiya Mazdoor sangh-CPM

Choose the correct answer from the options given below:

l.Dand E

-2

.B.DandE
3.AB.CandD

4. A.Dand E
Options :
920906114281. 1
920906114282. 2
920906114283. 3
920906114284. 4

Question Number : 71 Question Id : 92090628917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 & 9 o T ug 82

A. fEd YR SR W16 S - It i omg
B. YR AP SR TS BIOY - HIUF Urel
C. fg=2 OoigR 91 - wor greifee grdt

D. YRdIF Toig 99 (&l UH. T4.) - & o df

E. YRdIg Aoigy 99 -4i.41.ug

-1 fau e faeedl & 9 9t SR i
1.D 3R E

. $ad BD 3RE

3.%4dd A.B.C 3RD

4.%dd A.D3IRE

Options :

920906114281. 1
920906114282. 2
920906114283. 3
920906114284. 4

[ )

Question Number : 72 Question Id : 92090628918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not an item of social security of labour?

1. Wage
2. Maternity benefits
3. Pensions

4. Compensation for industrial injury
Options :
920906114285. 1
920906114286. 2
920906114287. 3
920906114288. 4

Question Number : 72 Question Id : 92090628918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

5 & A 1 o amifore JReT 51 U favg T8l 82
1. daA

2. ATgd A1
3. 49
4. 3T ®IE R gs &fd &1 gfd

Options :

920906114285. 1
920906114286. 2
920906114287. 3
920906114288. 4

Question Number : 73 Question Id : 92090628919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements about development is not correct:

1. Human Development Index (HDI) recognizes that human development
depends upon resources. knowledge and health. and therefore combines
indicators of these key aspects

|

. HDI 1s a composite indicators of the level of country's development. varying
between 0 and 1

3. GDP may neglect important aspects of the quality of life

4. Per capita GDP in nominal price is the only indicator of development
Options :
920906114289. 1
920906114290. 2
920906114291. 3
920906114292. 4

Question Number : 73 Question Id : 92090628919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g ¥ T oH-91 9edo [de & ey ¥ g8t Tei 22

1. T4 {9 Yadhis & HTHR U-a fdbrd a1y, I Ul Wed 1)
1R € o1d: 98 He@yUl g3l & Thdd! S Ssdi gl

2. A4 4P YaPiP UD ¥ & b TR Gl db 0 TUT19 & Sicrid &, Bl
U% Y Jha® g

3. il @t Ui, Sffa TurasT & Hgdqul 9&f &l THR el o
4. FHHE Oed ¥ | Biver o i Ui, [de™ &1 thdial Shab 5|

Options :

920906114289. 1
920906114290. 2
920906114291. 3
920906114292. 4

Question Number : 74 Question Id : 92090628920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements; one 1s labelled as Assertion A and the other
labelled as Reason R

Assertion A: Caste inequality is a separate question from gender inequality. In
most cases women as a whole are diseriminated against. and are economically
marginalized

Reason R: Gender and caste. along with the economic status are the three
intersecting aspects that puts women in our society at the lowest peddle of
socioeconomic disadvantage. Caste plays an extremely important role in it, as in
the lower caste women are the most marginalized among the women in India.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct
Options :
920906114293. 1
920906114294. 2
920906114295. 3
920906114296. 4

Question Number : 74 Question Id : 92090628920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D
PIUl (Reason R) & $U H:

YT A ST L. o sraaHar € 39 Uy 81 Saigrar geAnsi &
gigarsii ¥ guid: YeuTa fovar Srar § aul dfgan siide &9 3 gk iR g
DR R: 3 TR & Jry-gry & gur wifd o 08 ufo=se & foid R
Afgan gaR ga 5 gmfe snfife &0 9§ Fydy gheE w81 o1fd &1
SO AUl g . YR § =l oifa § afgemn ged sife iy w § ]

SWRIF PYF & WD H, A ey fdeedl # F 9a8 Iugad IR &1 99

A SRR T 6 € AR R AP FE! AR &
ARREH TE § AP R A T TSl IR TRl ©
AT AGTR T TR ®

4. AT TSl AT R TET §

Options :

920906114293. 1
920906114294. 2
920906114295. 3
920906114296. 4

—

[ ]

L]

Question Number : 75 Question Id : 92090628921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Asian Trade Union College. to train educated young men particularly from the
working classes in trade unionism has been established in which place(s)?

A. Dellu

B. Kanpur

C. Calcuta (Kolkata)
D. Jaipur

Choose the correct answer from the options given below:

l.Aand B

| ]

.Band C
3.C

4.D
Options :
920906114297. 1
920906114298. 2
920906114299. 3
920906114300. 4

Question Number : 75 Question Id : 92090628921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR TG & dgd. GRIAR TR 1B UL a1 & Ue-ford garsdl &1 uiRiamr
37 % fo U 2s gfme STas &) el Y T T 82

A, foet

B. ®MQR
C. BIAPIAl (hab)

D. SR

=< f&u e fasedl O § 98! SR Aol
1.ASR B

BaRC

3:C

| ]

4.D
Options :
920906114297. 1



920906114298. 2
920906114299. 3
920906114300. 4

Question Number : 76 Question Id : 92090628922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What are the major spectrums of labelling theory?

A. Nature, causes and impacts of deviant labels

B. Deviance and conformity. social responses

C. Upward or downward social mobility

D. Ways in which different forms of inequality and division interact with
each other

E. Disadvantaged sections of labour

Choose the correct answer from the options given below:

1.Dand B

|

.Cand E
3.Aand B

4.Band E
Options :
920906114301. 1
920906114302. 2
920906114303. 3
920906114304. 4

Question Number : 76 Question Id : 92090628922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dafeRT Risid o1 ge uidfed o g2

A. UPpid., fauymedi ugt & SR qur gH1a 9

B. fa=re qur er72ddr. grieie widfharng

C. IUNHET yal JE! JraTisie TiaRiied

D. SFHF 3R G & fafie Ul & RIR a1 3 & daild
E. 49 &1 df=rd HFT

-1 fau e faeedl & 9 9t SR i
1.D 3R B
2.C 3RE

ASIRB

4.B 3R E

Options :

920906114301. 1
920906114302. 2
920906114303. 3
920906114304. 4

L}

Question Number : 77 Question Id : 92090628923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who wrote the book titled 'The German 1deology'?

1. Friedrich Engels and Karl Marx
2. Max Muller
3. Ludwig Feuerbach

4. Rosa Luxemburg
Options :
920906114305. 1
920906114306. 2
920906114307. 3
920906114308. 4

Question Number : 77 Question Id : 92090628923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

g oA i siTart <ie A fdde & s HiF 82
1. PSS IRep Usied Ul STe JTeR

2. R TR

3. ISaT WReD
4. ST Ao

Options :

920906114305. 1
920906114306. 2
920906114307. 3
920906114308. 4

Question Number : 78 Question Id : 92090628924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following is not a measurement of central tendency.

1. Arithmetic mean

| ]

. Mode
3. Moments

4, Median
Options :
920906114309. 1
920906114310. 2
920906114311. 3
920906114312. 4

Question Number : 78 Question Id : 92090628924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{5 7 O &1 Dot ugfd o1 oy e 82
1. 3BITOC T Are

2. 95D
3. AEd
4, TP

Options :

920906114309. 1
920906114310. 2
920906114311. 3
920906114312. 4

Question Number : 79 Question Id : 92090628925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The statements."Supply creates its own demand".is given by.

1. J. B. Say
2. Harrod
3. Keynes

4, Lewis
Options :
920906114313. 1
920906114314. 2
920906114315. 3
920906114316. 4

Question Number : 79 Question Id : 92090628925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S, M @ o @ o 3t B, frga faan @ -
Lo
2. 308
3. fog

4. =9
Options :
920906114313. 1
920906114314. 2
920906114315. 3
920906114316. 4

Question Number : 80 Question Id : 92090628926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following film was made by Willian Friedkin on drug trafficking

1. The French connection (1971)

2. Quatre Cents Coups (1959)

%)

. Low order (1969)

4. Twelve Angry man (1957)
Options :
920906114317. 1
920906114318. 2
920906114319. 3
920906114320. 4

Question Number : 80 Question Id : 92090628926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o & O oH-11 e fafean wissien grr fAfia g ¢fhfdr @ snufika g2
1. g Thd S99 (1971)
2. B Y™ $H(1959)
3. 91 378X (1969)
4. ¢od Ul B (1957)

Options :

920906114317. 1
920906114318. 2
920906114319. 3
920906114320. 4

Question Number : 81 Question Id : 92090628927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Root mean square deviation 1s Popularly known as:

1. Standard Deviation

| ]

. Quartle Deviation

Tl

. Coefficient of variation.

4. Variance
Options :
920906114321. 1
920906114322. 2
920906114323. 3
920906114324. 4

Question Number : 81 Question Id : 92090628927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ad AT aFl faga- deardl 82
1. AFS fa=e
2. IqU fageH
3. fa=Ru Ui

4, T
Options :
920906114321. 1
920906114322. 2
920906114323. 3
920906114324. 4

Question Number : 82 Question Id : 92090628928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An example of negative tax:

1. Subsidies

| B

.GS.T.

el

. Penalties and Fees

4. User charges for Government utilities
Options :
920906114325. 1
920906114326. 2
920906114327. 3
920906114328. 4

Question Number : 82 Question Id : 92090628928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TPRIAD DI BT IS0 &:

1. 3T g

2. SI.ug el

3. 9 IR B

4, BRI a1l & e Yidr

Options :

920906114325. 1
920906114326. 2
920906114327. 3
920906114328. 4

Question Number : 83 Question Id : 92090628929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the fallowing 1s not current labour laws act of Inda.

1. The Minimum Wage Act 1948
2. The contract labour Act, 1970
3. Social Security code 2020

4. The Industrial Dispute Act 1947
Options :
920906114329. 1
920906114330. 2
920906114331.3
920906114332. 4

Question Number : 83 Question Id : 92090628929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ o I -1 STy gduH 40 Al & Sidiid 51 3D
1. GaH da- AfagH. 1048
2. 3EY YT T, 1970
3. FHTRSTS YR HiedT. 2020
4. 3P Bag Ugd, 1947

Options :

920906114329. 1
920906114330. 2
920906114331. 3
920906114332. 4

Question Number : 84 Question Id : 92090628930 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under PMSSY, 22 new All India Institutes for Medical Science (AIIMS) were
built. Three of the cities given below have these new ATTMS.

A. Bhopal

B. Raipur
C. Patna
D. Etawa
E. Kurnool

Choose the correct answer from the options given below:
1.C, D, E only
2. A, B. C only
3.B.C.D only

4.B.D.E only
Options :
920906114333. 1
920906114334. 2
920906114335. 3
920906114336. 4

Question Number : 84 Question Id : 92090628930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

4 U0 T U 915 & 3iavid 22 70 e YRy i 9= s9e ) -
ferm i fFg A T 9 70 anvs 82

A, HIOTA

B. AR
C. Y-l
D. gcldl
E. 3

- feu e fdwenl & 9 Fel ST <o -
1.9du C, D, E

. PAU A, B, C

.®quB,C,D

4. HAU B, D, E

Options :

920906114333. 1
920906114334. 2
920906114335. 3
920906114336. 4

| ]

L]

Question Number : 85 Question Id : 92090628931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a terminology used by Max Weber for understanding
social realities?

1. Verstehen

| o]

. Ideal Type
3. Social Construction

4. Value Orientation
Options :
920906114337. 1
920906114338. 2
920906114339. 3



920906114340. 4

Question Number : 85 Question Id : 92090628931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬁ@wﬁwﬁmﬂmmaﬁ%ﬁﬁmﬁﬁ%mﬁﬁﬁ

1. REE

2. 3TERI UPR

3. groTioe Ao
4, Oeq fufgarg

Options :

920906114337. 1
920906114338. 2
920906114339. 3
920906114340. 4

Question Number : 86 Question Id : 92090628932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which vear is set as the target for achieving Sustainable Development Goals
(SDG)?

1. 2030

|

. 2040
3. 2025

4. 2035
Options :
920906114341. 1
920906114342. 2
920906114343. 3
920906114344. 4

Question Number : 86 Question Id : 92090628932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TyRuity faera dedi & o sF-aray sy fesar mr g2

1. 2030

| R

. 2040
3. 2025

4, 2035
Options :
920906114341. 1
920906114342. 2
920906114343. 3
920906114344. 4

Question Number : 87 Question Id : 92090628933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Food production in India in the year 2021-22 was:

1. 288 million tonnes

| ]

. 315 million tonnes

L]

. 364 million tonnes

4. 242 million tonnes
Options :
920906114345. 1
920906114346. 2
920906114347. 3
920906114348. 4

Question Number : 87 Question Id : 92090628933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy 2021-22 H YRd & @I 3@1EA -
1. 288 faferg o4

315 [Hferm e

3. 364 fiferg e

4. 242 ffeg &4

Options :

920906114345. 1
920906114346. 2
920906114347. 3
920906114348. 4

[ ]

Question Number : 88 Question Id : 92090628934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LISTI LISTII
A |Birth rate [. |The average no of births per women
The no of live births per thousand of
population in a vear
The no of children that the average women
must have to maintain a stable population
Fate of change in the size of a country's
[population

B. [Fertility rate II.

C. [Replacement Fertility rate| IT1

D. [Population Growth IV.

Choose the correct answer from the options given below:

1. A-I1. B-1. C-III. D-IV

| ]

CA-L B-ILL CA-TILL D-IV
3. A-L. B-II. C-IV, D-III

4. A-II. B-III. C-I. D-IV
Options :
920906114349. 1
920906114350. 2
920906114351. 3
920906114352. 4



Question Number : 88 Question Id : 92090628934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 g1 11 H i sifore
T I
A [FEHE 1 [fd Aiga IR o= @l T
B. [ &R 1L [0fd §9IR 41 U Siifdd d=di &l T
¢ PR | R S8 H1Y 94914 394 & [0 U Si8d Hiedl & awi
B (5 [o gEm
D. [oee gls IV. [6=1 1 oI H uRad
fgfilad famedl § ¥ Tel 3 &1 994 Sifelt

1. A-I1. B-1. C-III., D-IV

| ]

AL B-I1, C-IILL D-IV
3. A-L. B-11. C-IV, D-III

4, A-II. B-III. C-I. D-IV
Options :
920906114349. 1
920906114350. 2
920906114351. 3
920906114352. 4

Question Number : 89 Question Id : 92090628935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In calculating HDI. the weightage of three dimensions - health. education. and
standard of living. are:

111
37373

|

[ ]

| b2 "-"*Ll_
A | — ¥:|*~
|t o

|

4.

| e
Lad |
LA

Options :

920906114353. 1
920906114354. 2
920906114355. 3
920906114356. 4

Question Number : 89 Question Id : 92090628935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U9 SI TS (HDI) & IREGE- H. a1 AT - Tared. FRra1 dur 389-98- %1
DPIURIP o -

111
| R
3 3 2
9 e k3
3412
2
g 252
555
4311
3315
Options :

920906114353. 1
920906114354. 2
920906114355. 3
920906114356. 4



Question Number : 90 Question Id : 92090628936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1s the better measure of welfare.

1. National income

| ]

. Per Capita income

L

. Per Capita Digposable income

4. Gross National Product
Options :
920906114357. 1
920906114358. 2
920906114359. 3
920906114360. 4

Question Number : 90 Question Id : 92090628936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[T Ud SHedTU] ol dgdr JHMHEl 1 87

4. A AP G
Options :
920906114357. 1
920906114358. 2
920906114359. 3
920906114360. 4

Question Number : 91 Question Id : 92090628937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ministry of Labour and Employment (MOLE) has developed e-shram portal for
creating a National database of.....

1. Organised sector workers
2. Unorgamised workers
3. Agriculture workers

4. Unorganised women workers
Options :
920906114361. 1
920906114362. 2
920906114363. 3
920906114364. 4

Question Number : 91 Question Id : 92090628937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T qUT IASHTR A0 & g1 faefid 5-949 Uicd & foru g T
LEEEEN

1. Fufed &7 PR

2. 3Ufed PR

3. DY HIIR

4, 3r5gfed Higdl SR

Options :

920906114361. 1
920906114362. 2
920906114363. 3
920906114364. 4

Question Number : 92 Question Id : 92090628938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTII
|credit Rating agency | Head Quarter
A |CRISIL I. Mumbai
B. MOODY'S II. [New York
C. |ICARE III. PMumbai
D. [CRA IV. |Gurgaon

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

| ]

. A-L. B-IIL. C-II. D-IV
3. A-II. B-III. C-I. D-IV

4. A-II. B-1. C-III. D-IV
Options :
920906114365. 1
920906114366. 2
920906114367. 3
920906114368. 4

Question Number : 92 Question Id : 92090628938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I(3Fiee Y1 Tsid) LIST II(HETEA)
A [iopfaa I [Has
B [g3Iqg 1. [=gio
C. [pmR 111 [Hag
D |smEdEiamTE V. [I5ia
1 fqu T fas eyl § T gel 3wk difor

1. A-I. B-II. C-III. D-IV
2. A-L. B-1II, C-II. D-IV
3. A-IL. B-III. C-1. D-IV

4, A-IL. B-1. C-III. D-IV
Options :



920906114365. 1
920906114366. 2
920906114367. 3
920906114368. 4

Question Number : 93 Question Id : 92090628939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Pluralist theory suggests that power in society 1s undistributive
Statement IT: Social movements are non-collective actions

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement [ 15 correct but Statement I incorrect

4. Statement I 1s incorroct but Statement II correct
Options :
920906114369. 1
920906114370. 2
920906114371. 3
920906114372. 4

Question Number : 93 Question Id : 92090628939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 G P R T §
BY I: ggaarare [RGid A1 © fo gars 3 Tl sfaue-a g
DY II: 1D G SReD B B

e U & eI H, i 34U U fas el O 9 9a9 Iug 3k &1 994
DI

1. PYT1 AR 11 gH T8l §
HYF 1R 11 SH Tad §
DY 1 T8 B, Aftp HYF 11 7Tad ©

4. BYF 17T, AfpT HYT 1 T3 &
Options :
920906114369. 1
920906114370. 2
920906114371.3
920906114372. 4

| ]

L)

Question Number : 94 Question Id : 92090628940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
[National Income Estimation| 1. |Shramev Jayate
[ abour Reforms (2014) II. |Central Statistical organisation
Poverty and un-British Rulg| ITI. [Dadabhai Naoroji
Milk Revolution IV |V. Kurien

ofafw[>

Choose the correct answer from the options given below:

1. A-IV, B-III. C-II. D-I

| ]

CA-IL B-IL G-I D-IV
3. A-L. B-1I. C-III. D-IV

4. A-II. B-III. C-I. D-IV
Options :
920906114373. 1
920906114374. 2
920906114375. 3



920906114376. 4

Question Number : 94 Question Id : 92090628940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 11 g1 11 H i Sife

T I T
A [P omg e | L |yHd wad
B. |5/ 9 (2014) 1L [ha g Gifea®] TusH
C. [Ris 3 TR fafewr 9] 111 [gTerE A3
D. g pifd IV. [al. DRaT
fafdiRad famedi § U UEl IR &1 904 $IfoU

1. A-IV, B-III. C-II. D-I

2. A-1L B-1L. C-III. D-IV

. A-L. B-II. C-III. D-IV

L]

4. A-II. B-III. C-1. D-IV
Options :
920906114373. 1
920906114374. 2
920906114375. 3
920906114376. 4

Question Number : 95 Question Id : 92090628941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Average product of Labour I. |Mehboob-Tl-hag
B. [Human development Index (HDIY II. |[Lewis model
C. [Unbalanced growth III. |[Ninth five year plan|
D. [Eemoval of poverty IV JA.O. Hirschman

Choose the correct answer from the options given below:
1. A-L. B-II. C-IIL. D-IV
2. A-IL. B-1. C-IV. D-III
3. A-IV. B-IIL. C-I1. D-I

4. A-III. B-I. C-II. D-IV
Options :
920906114377. 1
920906114378. 2
920906114379. 3
920906114380. 4

Question Number : 95 Question Id : 92090628941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 11 g1 11§ e ifor

A I T
A ym g gad | I [9Ed9-3d-8@
B. [AH4 [9e™ gaoia | 1L [qey9 Aisd
c |emdfaafamm | |odf u= adifg gemn
D. [l garsit V. [u 3ff fBema
Fafafad fasedl o 9 |8t 3R &1 997 SIS :

1. A-I. B-II. C-III. D-IV
2. A-II. B-1. C-IV, D-III
3. A-IV. B-III. C-II. D-I
4. A-III. B-1. C-1I. D-IV

Options :
920906114377. 1



920906114378. 2
920906114379. 3
920906114380. 4

Question Number : 96 Question Id : 92090628942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other
labelled as Reason R

Assertion A: Increase in private consumption and capital formation has led to
India's economic growth in recent years

Reason R: Demand side factors are crucial for economic growth in the short run.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

-2

. Both A and R are correct and R 1s NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A 1s not correct but R is correct
Options :
920906114381. 1
920906114382. 2
920906114383. 3
920906114384. 4

Question Number : 96 Question Id : 92090628942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D
PIUl (Reason R) & $U H:

Y= A: doill A1 quT el @ud 3 9iS. 3 81d 61 & 9al § URd 3t
e gfs § g [Par g1

DRUIR: iedraiy H afdfe g & fow 41 yef R He@yvi & |
SWRIFd PY & 3Maie U, 43U fdbeul ¥ 9 gad Uy 3R &l 994

A 3R R G U6l § IR R. A D gl ARHAT S

A 3R R G U8l §. Wl R. A B Tel TRAT 81 &
AT IFIR TGS

4. ARl TR g afdT R WET §

Options :

920906114381. 1
920906114382. 2
920906114383. 3
920906114384. 4

—

| ]

L]

Question Number : 97 Question Id : 92090628943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following authors wrote Riddles in Hinduism'?

1. B. R. Ambedkar

|

.M. K. Gandhi
3. Jyotirao Phule

4. Pertyar
Options :
920906114385. 1
920906114386. 2
920906114387. 3
920906114388. 4

Question Number : 97 Question Id : 92090628943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906114385. 1
920906114386. 2
920906114387. 3
920906114388. 4

Question Number : 98 Question Id : 92090628944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following 1s true?

1. Growth is inclusive when it causes high level of consumption
2. The urban unemployment rate in 2022-23 was 15 percent

3. RBI has projected inflation at 2.5% in FY2023-24

4. Growth 1s mnclusive when it creates jobs
Options :
920906114389. 1
920906114390. 2
920906114391.3
920906114392. 4

Question Number : 98 Question Id : 92090628944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. ﬁ?ﬁﬂaﬁgma-yﬁ AR &t 3T (MR<TE Reid §%) gR1 A 7S
X 25% 2l

4. Yglg FHa § 99 a8 AR S@d Bl ¢ |
Options :
920906114389. 1
920906114390. 2
920906114391. 3
920906114392. 4

Question Number : 99 Question Id : 92090628945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Felman and Subramain (2020), the reason of slow-down in growth in
India in 2018-2019 was.

1. International oil price shock

| ]

. Four sector balance sheet crisis
3. Two sector balance sheet crisis

4. International supply chain disruption
Options :
920906114393. 1
920906114394. 2
920906114395. 3
920906114396. 4

Question Number : 99 Question Id : 92090628945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906114393. 1
920906114394. 2
920906114395. 3
920906114396. 4

Question Number : 100 Question Id : 92090628946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Poverty line and Poverty Gap I. IP.D. O4ha
B s caRask saveniy I Stum_:l“_r b“i Gaurav Dutt and Martin
Favallion
C. [Incidence of Poverty 1n India III. [Study by P. K. Bardhan
[Number of persons below poverty line
D. fon IV, |Study by Minhas and others
[the basis of average calorie mtake

Choose the correct answer from the options given below:
1. A-II. B-IV. C-I, D-III
2. A-IL. B-III. C-IV. D-I
3. A-I. B-IL. C-IV. D-III

4. A-II. B-1. C-III. D-IV
Options :
920906114397. 1
920906114398. 2
920906114399. 3
920906114400. 4



Question Number : 100 Question Id : 92090628946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 11 gl 11 F fiaH Sifor

g1 T
A TS 3@ 9T THiE Hd N EEIE]

; g & dyl Jifc Lafede
B. [0 i€ O¥ flddaHn II. R TP
. wﬁnﬂ%ﬁw 111 [0 & IR R &g
D. %ﬂi%mgm‘}”wmmwg IV, (98T Ug 3= g 3{g-
Fgfalad faeedl § ¥ gal 3d3 &1 994 HifeT

1. A-II. B-IV. C-I. D-III
2. A-II. B-III. C-IV. D-I
3. A-L B-II. C-IV, D-III

4. A-II, B-1. C-III. D-IV
Options :
920906114397. 1
920906114398. 2
920906114399. 3
920906114400. 4



